&

R F / Product Number

AUX - -

H~f % W~T5%

H dimension W dimension

R

D dimension

D~Fi%k JLE

Rubber feet

ERE R4k / Original trapezoidal head screw specification

W7/ =5J)LT—%3 / Technical Datall
¥4tk JLY / Recommended torque: 0.3N*m ~ 0.6N*m

EX (P /H)

Screw (P or H)

@ O

© @

[P] 75X / Phillips

E 758 / Hexagon-socket

it

Color Type

#BRAZ / Components

No. # ¥R / Part name = / Pcs #E / Material & - FREWLE / Color-Finish
: a—F—Javy 4 TILEHE A F ¥R+ ADC12 DIR— Ty -
Corner block Diecast aluminium ADC12 Silver , Black*Painted (Unfinished inside)
) {4 s T ILSHRH# A6063S-T5 DIWIN—, TSV TILIAMY) T EE
Frame Extruded aluminium A6063S-T5 Silver , Black=Anodized with clear coating
2 HiN— : 7 IJLSHR A1100P DIWIN— , TZY7-TILIA
Top cover Aluminium A1100P Silver , Black*Anodized
4 THhii— : 7 LR A1100P DIWIR—, TZT-TILIAH
Bottom cover Aluminium A1100P Silver , Black*Anodized
5 JLRE 4 AT L T3vY
Rubber feet Rubber Black
6 HR{FE X (M3 x 8) 16 % —whH LAY
Screw (Flat head M3 - 8) Steel Nickel plated
; BR{FTE R (M3 x 5) g % ZwirLAvE | ElESOA—k
Screw (Trapezoid head M3 - 5) Steel Nickel plated , Black trivalent chromate

AHAHSSMTF I REOB/FE IR INFEM T XBELET . / Copyright (C) TAKACHI ELECTRONICS ENCLOSURE CO., LTD. All Rights Reserved.

£ 114k / Color Type
E0& / Code | 3—7F—2J@w% / Corner block {BI#R / Frame $1/3—/ Top cover TF#/3— / Bottom cover
SS < )L1N— / Silver < )LiN— / Silver < )LN— / Silver < )LsN— / Silver
S B 7597 / Black < )LsN— / Silver < )LsN— / Silver < )LsN— / Silver
B X 7597 / Black 759% / Black < )LsN— / Silver < )LsN— / Silver
B B 7597 / Black 759% / Black 759% / Black 7597 / Black

fhd/Title
BAKUINTERIR FAIaURA—LRYSR O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. ALUMINIUM CONTROL BOX
&8/ Approved &R /Checked #I[X|/Created B Z /Product number RIE/Scale
AUX88-30-25R[1-[101
HhiR £ T R/ Page
{ERk B /Date 2024/09/27 1/ 6




243

B view

o

D view E view
300+ 0.5
A —
( )
l 1
1
o) 1
o )
H _ — _
o ]
& T |
B
1
r 1
(J
A —
A view
C
@
o
Y Az
3
0
0
B-B(1:5)
@
293

C view

203

F view

C-C(1:5)
(Fo—=r————u=0
253

BREUINTFEMTE

TAKACHI ELECTRONICS ENCLOSURE CO., LTD.

w4/ Title
FZILIavkO—)LiRyH R
ALUMINIUM CONTROL BOX

o]

#2/Approved

iR

X/ Checked

T

X /Created

A

FIF /Product number

AUX88-30-25RO-010

RE/Scale
1:5

{ERL B /Date 2022/07/28

~R—/Page

2 /6




A {84k / A Frame

250

87

80.7

XM / Front side

B {8k / B Frame

R / Front side

22.5

25

33

33

251 / Back side

I-‘ 7
& 9
5 2-M3AH SR
2-M3 Countersunk
% RxIEBE4E / Same on the other side.
|.(\ 7
o o

221 / Back side

m#/Title
BREUINTFEMTE %ﬁlmi O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
2 /Approved 18X/ Checked X /Created FIF /Product number RE/Scale
H88 - W300 125
iR ES Eaza) N—/Page
1ERLH/Date 2022/07/25 3/ 6




C fAl#x / C Frame

<
- ) )
&, &
5 2-M3FAY IR 5
2-M3 Countersunk
200 225 X RxtEHE4k / Same on the other side.
™
¥
™
™
~
5 8
25
@
™
\—",_':.-a
™
R / Front side 251 / Back side
D {84k / D Frame
o o
ferae®)
\-"‘]_':F:l
R / Front side 221 / Back side
Mm%/ Title
TAKACHI) HRXLttahFEHTE BIiR O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Frame
Fzh/Approved | #&K/Checked | BUN/Created | Z2%/Product number RE/Scale
H88 — D250 12
EP*E X E]”*‘T ~N—T/Page
1ERLH /Date 2022/07/25 4 /6




4-R14.7
<

: o
g ]

M@ / Front side

289.4

270

7/

(o]

/s

N

o

\°

BH3TiE / Max dim.

253+ 0.5

4-p45

H#hti% / Max dim. 203+ 0.5

2
/o o)
REE—Ma
Surface protective film side
0 o)
ZEME / Back side
R4/ Title @
[TAKACHI) #zt&itahFEMTE HIN— [
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. TOp cover
7R/ Approved #&[X/Checked X /Created FIF /Product number RE/Seale
W300 - D250 _ 18
iR E3 it R=T/Pase
YERLH /Date 2022/07/26 5/ 6




4-R14.7
<

: o
g ]

M@ / Front side

289.4

270

7/

(o]

/s

N

o

\°

BH3TiE / Max dim.

253+ 0.5

4-p45

H#hti% / Max dim. 203+ 0.5

2
/o o)
RE—MA
Surface protective film side
o o)
ZEME / Back side
R4/ Title
TAKACHI) #atitsnF BT THA— O]
TAKACHI ELECTRONICS ENCLOSURE CO., LTD. Bottom cover
7R/ Approved #R[X/Checked #[X/Created 1% /Product number RE/Scale
W300 - D250 13
iR ES 4t N/ Page
{ER B /Date 2022/07/26 6 / 6




	AUX88-30-25R
	ｼｰﾄ2_AUX88-30-25R
	AUS_W300
	AUS_D250
	AUT300-250
	AUT300-250
	
	Sheets and Views
	Model





